Yes, he is
I. Answer following questions with No, he isn’t

Yes, she is
No, she isn’t

RYAN JESSICA

1.Is Ryan wearing a cap? 1. Is Jessica wearing socks?
2. Is he wearing a jacket? 2. Is she wearing a T = shirt?
3. Is he wearing pants? 3. Is she wearing a dress?

2. Say if the sentences are TRUE or FALSE.
- Ryanis wearing a T-shirt. = TRUE - FALSE
- Jessica isn’t wearing a dress. TRUE - FALSE

- Tom is wearing a cap. TRUE - FALSE

3. Say what you are wearing now.

Example: (Zoe) | am wearing a T-shirt, shorts and flip-flops.

1. Is Tom wearing a cap?

2. Is he wearing a T-shirt?

3. Is he wearing flip-flops?




